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1. What is the extended ratio of all 30 — 60 — 90 triangles? X = X [3— - ¥
2. What is the extended ratio of all 45 — 45 — 90 triangles? X — X - X(,(.TL
Find the missing sides for each of the following. Leave answers in simplified radical form.
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[image: image2.png]18. Find the length of the diagonal of a square with a side of length 13v2.

Draw a diagram. i P v

19. Find the length of a side of a square with a diagonald&ngth of 100.
Draw a diagram. I iga = ¢z
& E:d e ¥
<=y e
20, The length of a side of an equilateral triangle is 12. Find the length of the
altitude. A
2 /e
21. The length of the altitué’e of an equilateral triangle is 9. Find the length of a side.
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22, At a point 500 miles north of a ship, the shoreline runs east and west. West of that
point, the navigator sights a light house at an angle of 60°, How far is the ship

from the lighthouse? « /3
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23. A point on the edge of a symmetrical canyon is 4500 ft above a river that cuts through
The canyon floor. The angle of depression from each side of the canyon to the canyon

floor is 60°
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Find the fength of the canyon wall (from the edge to the river).

Use Pythagorean Theorem on the following triangles.

24. et 25, 2.
>: ‘lﬂ U)y’? X

10

18, ol =X
19, W)(’S—Ouri
20, Aféf3

2. side ® (Jz

2. 10O m§‘C§

S 196, 7 Fet
b 3000J3 fect

¢z

Decide if the segment lengths form a triangle. If so, would the triangle be acute, right, or obtuse?

27. 14,24, and 25 28. 11,19,and 32 . 29. 3,9, and 31 30. 4{3, 25, and 31
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